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“Note: 1) All Questions are compulsory. \

2) Figure to the right indicates full u‘i‘g}ts;'

s

1.A Choose the correct alternatives (any eight)

()

(i1)

ortaking land on lease basis.
(Corporate, Contract, Mutual)

(iii) Human Rights,_.'have
(Social, Political, Um'versal) 3

(iv)

Wt

(V) es,:th éulﬂvat;ﬁm of the crops impossible.

(7

EeS Oy
_ ram Dm’m 15 a positive impact of globalisation.
mmigra‘non means moving into a new country.

g, 4\1
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(iif)
(iv)
(v)

(vi)
(vii)
(viii)
(ix)
(x)

2. Discuss the concept of privatisation. nghlnght the advaﬁtages
privatisation.

The UDHR consists of 28 articles.
Writ can be issued only by Supreme Court.

environment.
Atmosphere regulates the global temperature

Eustress are also known as negative stress.
Maslow § theory ison Human Motlvatlon

kla'nd di (s?di’ah‘fageg_;!? I
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e ams/ BHF [ REGRETHEEEe
\%‘ oY \\% Q. P. Code: 12169 '

Duration: 2%z hours -~ Total Marks: 75
N. B. 1) All questions are compulsory.

Q. 1. A. Fill in the blanks with suitable options. (Any Eight):- - - (08)
1) AJRR . oo innnan provides written intimation about the date, .ti‘me and venue of

a business meeting.
(Notice / Resolution / Agenda) PRSI ST

2) A Structured Interview is .........-: 2
(pre — planned / unplanned / planned on the spot)

3)  eeesveneens are based on the ﬁndmgs of a Business Rcﬁort.
(Recommendations / Terms of Reférence / Summary)

4) The primary objective of afan B oy e o Interview is to select the best
candidate for the job: (Selection / Exit / Appraisal |

5) Conferences prov_ide ﬁvél_qable_’: base for ..o
(Seminars/Committeés?Sﬁrhposia)

6)  Business meetings have a/an ..o agenda.
(indefinite / dynamic / fixed)

7 A Group Interview is similartoa oo (Gr_o'up. Discussion / Panel
Interview / Stmcturéd Interview)

8) Sug_geétibn’ Schemes are an example of .ot Communication.

(Upward / Downward / Zigzag)

9 Catalogue, Price-list and Product Literature are sent by a seller in response toa
LOtterOf < /as i vy s . (Order/ Complaint/ Inquiry)
10) . A conference shouldbe ..c.o oo (need based / choice based / quality based)
Q. 1. B. Match the following (Any Seven). (07)
1) -~ Motion ‘ a) Vote of Thanks
2) Conference : e b) Review of Performance
3) Promote Sales S c) Open House
4) Last Item in the Agenda d) Outgoing Employee
5y - ExitInterview e) Give Latest Developments
6) Bulletins f) Proposal
7y Appraisal Interview 2) Exchange of Views
8) Skype ; h) Discounts
9) Group Communication i) Group Discussion
10) - External PR ) Video Chat
Page 10of 3
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Q.3

Q.4

Q ‘_P Code! 12169?'_--

How should a candidate prepare himself for a Job Interv1ew‘?
List and explain the factors that must be considered to orgaruze

a successful conference. o P (08)
What is a Grievance Interview? Why should 1t be conduc:ted’7 ¥ (07) &
Define Public Relations. List and explain any f'tve measures to _f-f i

promote the external Public Relations of an orgamzatton (08)

An educational institution requlres one: hundred and ﬁﬁy desks :‘ R

for its classrooms. Draft a Letter of lnqulry addressed to F; amous Furmture ey

Mart asking for a price- llst anrl cataloguet Use the Complete Block
layout. - B0 b (07)
Mr. Gupta bought two do.ten ’fru1t drmk cans from Super Bazar
On checking the cans at hor Mr Gupta realized that the cans
sold to him were 20. da’ys paSt thelr expiry date. Draft a Letter ofi;:t'
Complamt on his. behalf _‘Use the Modlﬁed llock layout : § '(08)
Draft an Investtganve Repbrt ‘wrth recOmmendatlons about the
unhygienic: COI’ldlthrlS m the canteen of Wonder Works Pvt Ltd,

Chembur, Mumibai, ' "« B ) : (10)
Draft the Notice and Agenda for the Annual General Meetmg of

Phoemx Computers Worh Mumban L& 'f T (05)

Draft a Sales Letter to promote a EVedie Maths and Abacus Center’.

" JsE the Seml Block layout M (07)

Amrtt Lal had paid t his. telephone btll in time yet his telephone line
was dtscr)rmected on charges of non—payment This has happened
for the thtrd consecuttve month. ‘Drafta letter on his behalf

P addressed to. the Conshmer Redressal Forum seeking compensation
" for the harassment and. tmmedtate restoration of the connection.
‘ Use the Complete Block layout (08)

» ~OR

';Draﬂ an RTl Letter seekmg information regarding your application for a
driving. lleense that has not been processed in spite of having passed the
- ~Driving Test arld hang submitted the required documents three
: --_months age WG (07)
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D.

Q. P. Code: 12169

'

Summariie the following passage: 7' : (08)
The educatlonal philosophy of Swami Vivekananda is a harmomous ‘
synthesis between the ancient Indian ideals and modem Westem behefs S
He not only stressed upon the physical, mental moral,,s_pmtua] and v0cattonal'. ;

development of the child, but also advocated women B educatlon as well as

education of the masses. The essentlﬁ‘l characterlshcs of the educat;ona!"’ )

philosophy of Swami Vivekananda are ideallsm natdrallsm and pragmatlsm
FFrom a naturalist view point, he emphﬁmzed that real educatlon is. possnble Only :
through nature and natural propensmes Frdm an 1deallst V1ew pomt ‘he’ ms:sted
that the aim of educatlon Was to develop the chlld w;th mor‘al ai‘ld spmtual
qualities. From a pragm&t:St View pdmt he emphasized the need for Western
education of technolbgy, _t:ommerce mdusiry and 501ence to achleve material
prosperity. In short ﬁrst he empha.smed Splrltual deve]dpment then natural
propensity, aﬁef that safety of hfe and then solvmg the prob]ems of food and

clothing of the masses

Swaml Vlvekananda consndered women to be the mcamatlon of power. He
rlghtly pom’[ed out that unless Indlan women secure a respectable place in this
country the hatlon ‘can never move forward “The important features of his
scheme for. female educatlorl are “Make- Women strong, fearless and conscious

of thelr chasmy and. dlgmty”' He 1n51sted that men and women are equally

_oompe_tent not' ‘only i the: aoademlc.matters, but also in other spheres of life.
- Swami Yivekanahda 'be,'ihg a keen observer could distinguish the difference in
perception about - the- status of women in the West and in India. “The ideal

worman in T.ri‘ffli'a"is.a.mother-, a mother first, and a mother last” he declared.

Q. V. erte short notes* (Any Three) (15)

1)

2)
3)
4

5)

-=Advantages of. Conferences
Role of a Chairperson in a Business Meeting
: 'Appralsa]l.lnterwew
'Videooonferencing
Fone{ions of the Public Relations Department of an Organization
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g,

N.B:

Q.1 A) TRUE OR FALSE ( ANY EIGHT)
1. A partnership firm cannot issue shares.

2. Shareholders have unlimited liability.

3. Bonus issue is made out of free reserve.

07

Apl\ohg term investment

~Secured Loan

3 Credl’mrs ,C’ An intangible assets

4. F:D. Wlth Bank D. Capital Reserve

‘ ’SinfddE'Madi E. Memorandum of Association

F. Current liabilities

G. Bank Balance

H. Free Shares

I. Electronic Device

J. Expenses of the business

RS 823882DC6969BD73ESDDAATF6F 719648
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Q3

Q.2

On first call: Rs.25. On final call: Rs.25.

paid. Of the forfeited sha"r;*és 500 shares were re- rssued as fuf

Give journal Eateries,

Ajanta limited issued 8,000 6% debentures of Rs: 100 é\ae}i a
application, Rs.30 on allotment, Rs.40 on flrs@?fall gh(q‘ba

received. "'“1;'\ &
k\\v"% & );é;‘:)‘_/\
Pass necessary Journal Entries in the QQQK?Q' thi

( i

<3
r“}ﬂlaqﬁg of

e

08

v »;u,‘n‘C )

an 31‘*\M-arch Mrw Rallshlk closes his books every 31" December. Show

bgré capital consisti

ing of 80,000 Shares of Rs.10 each fully 07
aF v&hléhﬁs 8 paid per share,

fvey; Rs.40,000 in securities premiu

M account, Rs.1,40,000 in Capital
3,00,000 in general reserve,

r‘tly paid up shares are converted |

nto fully paid up shares and the holders
Ilotted fully paid up bonus shares j

n the ratio of 4:1. :

\ad an authonsed capital of R

5.1, 00, 00,000 divided into 10, 00,0
lance of‘the Company as on 31%

March 2015 was as follow:

823882DC6969BD73E8DDA A 7F6F 719643 Page 2 of 4



B

Q.P. Cod_g’*

Trial Balance as on 31.03.2015

132484

DEBIT Rs. CREDIT RS
Premises 22,50,000 Equity share capltal 3 ;--41,"5.!’3,.000‘;* 3 A B
Plant and Machinery 17,45,860 Profit and Loss A/C. : i (Jl 200 &, B
Sundry Debtors 6,08,900 ! : (
Furniture 67,500 ResE'i've for B: i
Bad Debts 14,250 ! Y
Rent, Rates & Taxes 1,41,970 1
Advertising 97,540 &
Cash in hand 47,200 : g '
Cash at Bank 2,05,000 «,i;-fStaff Bene\kblen Fund 3
Stock ( 31.03.2015) 7,23,200
Directors fees 18,000
Sundry Expenses 39, 980
Salaries
Motor Lorries
Disc. On Issue of Shares
Interim Dividend

66,88,740

Q44 The fc!lowmg is the balahce sheet of Udat Ltd as on 31/12/15

15
&5 Liapilitieg o o RS Assets Rs.
Share Capital: .~ R b Land and Building 42,000
7,500 shares of Rs.10 each 175,000 Plant & Machinery 48,000
General Reserve , '| 15,000 Trade Marks 7,500
Taxation Reserve 22,500 Stock 18,000
Workmen'’s savlngs account 11,250 Debtors 33,000
Profitand loss Account 12,000 Cash at Bank 19,500
Sundry Creditors '~ 36,750 Preliminary Expenses 4,500
AU 1,72,500 1,72,500
823882DC6969BD73ESDDAATF6F 719648 Page3of 4



Profits of the company have been as follow:
l

2013 Rs.30, 000 o

2014 Rs.33, 750

2015 Rs.33,750

Q.4 B) Followings is the balance sheet of KJ Ltd

Liabilities
Equity Shares of Rs. 10 Each .{?"éf' .
Preference Shares of Rs. 100 eagﬂ A
Security Premium 10,00,000
General Reserve '
Profit & Loss Account 1
Debentures ‘
Trade Payables T gl ; |
R |
SISO «ié‘po Qﬁmn R i 18,00,000 J
Keeping in wewﬁhe La aJ‘réﬁgfréﬁJﬁLtS‘ am:é?taihthe\ it ',“fju}hbér of Equity shares that KJ Ltd .can !
: [‘, ,,.;\ oy mm,' '*sw F & L0 X ;
|

08

07

15

+
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Q4. a. Explain the main prmmples of Orgamg.mg

\ &

b. “Leadership is Sll”uatlonaL y E’kplﬁiﬂf X ‘.'\ ; : Sp

/e

Page 2 of 2
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Q.1

FyeFm Sem- L

[Time: 2:30 Hours]

Please check whether you have got the right questmn paper ;’ Y o 'l I 2
N.B: 1. All questions are compulsory AN S A B N N SR ES S
2. Figures to right indicate full marks. S e N o ' B
3. Draw diagram where necessary. SIELEEE 2
"'-'.;,, D \ \ ¥
A) Fill in the blanks with appropriate word: @,gx,ggh) S DSAE FESISOO T
1. The ------=e== is the solid rocky crust cbveﬂng lhe entn‘e pfanet? o
a) Lithosphere s YT N
b) Atmosphere Pl TR 3
¢) Hydrosphere DAV B v NP '
2. Agricultural decisions are grea‘tiy mﬂucnced by ~'—:-'-‘-‘~----‘.‘-‘ 7
a) Climate SRR, o
b) Rainfall ooy »"_‘r“-' ' " D&
3. Fifth trophic lev'el COﬂSlSts of the -----L-»—-«_ : \ :
a) Producer. <" : &P E
b) Consumer & TQ T A
c) Deuompc»ser S T
4. India has --‘-A-":'——— bmgeographlcal 70nes % =
a): 30 : R A

,.'.- 7;“.’“‘3)‘ \indu_an-y o e
AW, Agrlcdltﬂrekg

PSS S s S S
‘-c)‘IU RS

B both an engme of creatncm and destruction.
a) Nachme BA A
b) Technology R ""_;,\Q‘.}- P

. C) Scu:nce <

.,5“:Tﬁe -:—--*—--»—- sector of thc eoonomy extracts products from the earth.

2y, Secondary
by 'Primary- ”‘
P o Temm :
"?-.“"_.Actwihe?s assnciatcd with tertiary sector are transport  aillisssssnan .

; c) Tourlshl

o A

page 1of3

6B97F38ED2EBR3D333FC758D272EED74



10.

B)

Zoo is an example oOf --=-==snrmnaas,
a) Ex-situ
b) In-situ

¢) Out-situ

a) E-waste
b) Biomedical waste
¢) Indoor air quality

The sphere consist of living things are
a) Atmosphere
b) Hydrosphere
¢) Biosphere

State whether the followmg@t&t&nﬁhﬁ&ﬂ@ﬂ?ﬁo or Fﬂs&‘w S £ 07

1. Large size countries. hkb U,nSA, anadh; “Rusmq or!ndig are hkciy to ﬁave wndcr range of

resources.
2.
4. ature, the use of which is not known (o
5.%7_

5P ‘ e g“ af..\

-1;6 Whe& o:é;he ﬂeepﬁel‘ow ﬂle“surfacaunderground mining methods have to be used.

Page2of 3
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Q.2
Q3
Q.4

a) What factors are responsible for loss of bio-diversity?
b) What methods can be adopted to conserve bio-diversity? g

¢) What is food chain, food web and biomass pyramid? “ i

pe

What is deforestation? Discuss the causes and effects of dgfﬁﬁe
OR & "~ T Ay S0
What is desertification? What are causes and effects o%ﬁéﬁqﬁtﬁbatmn? TS

G A

Discuss the environmental problems associated with industries.

AL

Explain the environmental impact of agricu]tulf‘e; ;
arice of envi

What is environment management? Discuss its need and<impo

N gB -

%, 0,

Write short notes (any three)
i) Inexhaustible resources™ = ~'o
ii) Effects of Grecnhougz'*,-gdsﬁsf S
iii) ISO 14000 KIS e
iv)  Remote sensing~ = . -
V) Bio-Gas Enc\rrgy s AN

Page 3 of 3

6B97F38ED2EB83D333FC758D272EED74



F

_ FIRESY
@\ Q. P. Code: 31277

Max Marks: 75 Duration: 2} hours

NOTE: 1. All questions are compulsory.
2. Figures to the right indicate full marks
3. Use of non-programmable electronic calculator is allowed
4. Graph paper will be provided on request.

Q1(A) Choose the correct alternative from the following (Attempt Any E|ght) (8)
1. The information is to be collected from educated people in a large aréa, swtable ‘method
shall be 2
(a) Census (bjﬁuestlonnaire
(c)Direct Personal Investigation (d)Through Correspondents
2. Circular diagrams are always : '
(a) One dimensional diagrams (b)Two dimensional diagrams
(c)Three dimensional diagrams (d)Cartograms
3. Which of the following cannot be obtained by graphical method
- (a) Arithmetic Mean _-(b)Me’dian (c)Mode (d)Quartiles
4. Which average is affected most by extreme values N
(a) Mode (b)Arithmetic Mean ' (c)Median (d)None of the
above
5. Median means .
(a) 50" Percentile (b)40"" Percentile (c)6™ Percentile (d)None of these
6. Quartile Deviationis :
(a) Q3 —Q (b)Qs + Qs (%% o (d) 2%
7. Correlation coéfficient is always
(a) Morethanl (b)Less than -1 (c)Between -1and +1  (d)More than 0
8. Regression coefficient (byy) is
(@) 7.2 (b) Nizzy S (c }5’3:?’ (d)AIl of the above
9. The word ‘Programming’ means taking decision
(a) Systematically (b)Rapidly (c)Slowly (d)Instantly
(- 10. The sampling units are chosen without replacement in the sense that the units once chosen
are not placed back in the population are called
(a) SRSWR {b)SRSWOR (c)Botha &b (d)None of these
(B) State whether following statements are True or False (Attempt Any Seven) (7)

The sources of data are Primary and Secondary both.

The table giving the frequencies for different class intervals is known as frequency table.

In Frequency polygon, frequencies are plotted against the lower class limit.

With usual notation N¥ = ¥ x?.

Dispersion measures the scatter of a set of observation.

If variable Y tends to decrease as variable X decreases, there is positive correlation.

if the value of correlation coefficient is zero, the regression lines are parallel to each other.
The student belonging to the University of Mumbai is an example of finite population.
Range can be calculated for open end classes.

10. Mode can be located by Pie diagram.

© 0 N OB N
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Q. P Code: 31277

Q2 (A) Solve the following linear programming problem (LPP) graphically ; (8)
Minimize 7= 90x + 130y Subjectto 2Zx+3y <18, 2x+y < 12.;% 20 4 y >0

(B) Prepare a frequency distribution for the following data giving the heights of ;3[.)-ch!iidré_n’sk_ '_ ‘(7)' i
121 133 SRS ANEEERE 134 131 6. 124 435439 ad7
137 130 138 N ERRERRNSY 131 127 14070126 A S 2280 143
123 125 I aEaael 137 Take the ciass mtervals as 120 125
125-130 s etc.. Also write less than and more than cumulétwé frequenCJes

OR p '

(P)SAGARMOTI REVOLUTION makes two types of videos | and Il To produce wdéo | reqwre 2 hours in
studio A and 3 hours in studio B. To produce v1deo Il requires 3: hours in studio A and1 hour in studlo »
B. Studio A can operate for at most 15 hours a day and Studio B can operate for at mcst 12 hours a
day. If Production House makes a profit of Rs, 4 on video | and Rs 12 on \ndeo 11, how rnany of each

- (8)

should be produce in order to maximize a prbﬂt? Formulate LPP

(Q)  Draw a subdivided Bar Diagram of the following data. (7)
Country No. of tourists (in ‘000s) 'No. of tourists (in ‘000s)
|"inyear2010 4 ' nyear 2015

Africa ARy 7 BT L A e

Australia 33.3 1'41.2

Canada 39.8 49.6°

France ) 65.9 57.6

Germany (W) 614 66.0

Japan e 36.4 349

Q3(A) Calculate Quartlle (Qz) and Eighty Sixth Percentile (Pae) for the following data. (8)

Marks T 20 20— 40 40— 60 60 — 80 80— 100
Frequenty - | 5 - . k2 A : 325 40 11
(B) Calculate standard dev:atnon for the followmg data. (7)
No of Particles Frequency (f)

0-4 54

74 >8 120

B <12 66

12 16 30

16-20 2

OR :
(P) Calculate Quartile Deviatlon and Coefficient of Quartile Deviation for the following data.

(8)

926325B547BASECTDBIE74C07129442F

Class ; 20'00“25_00 Ml 2500 - 3000 - 3500 - 4000 - 4500 —
- Interval 3000 3500 4000 4500 5000
Frequency 4 6 12 15 8 7
Page 2 of 3 -




Q. P. Code: 31277

(Q) calculate mean and mode for the following data . (7)
Daily wages | 200-400 | 400-600 | 600-800 | 800-1000 | .-1000 2 1200 -
in Rs. 1200 1400
No. of 8 35 22 15 13 7
Workers
Q4(A). Calculate Karl Pearson’s coefficient of correlation for the following data. (8)
Experience | 16 13 17 4 3 11 &) & 14
(2) DS _
Rating (y) | 88 87 89 72 AP P8 N LT 84
(B) Given the following data, find the two regression equations. (7)

Average age of car (X¥) =8

~ Average annual maintenance (¥) 22000

Standard deviation of age of cars (g,)=2 Standard Deviation of maintenance cost (0,)=80
Coefficient of correlation between the two (7)=0.7 :

Estimate y when x = 10 and also estimate x when y =69

OR
P) Find the two regression equations for the following data. (8)
Age in Years | 10 10 11 11 12 13
Marks 5 . 6 _ 6 7 8 7
Q) Find Karl Pearson’s_coefficient of correlation given for the following data. (7)
Y x =65 Yy =30 ¥ x? = 3261 Y y? =1004 Yxy=750 n=
9
Q5A) What'is Correlation coefficient. Write a short note on scatter diagram. (8)
B) What are the requisites of satisfactory average (7)
OR
P) Write Short notes : { Attempt Any Three) (15)

1) Errors in Statistical Investigation
3) Merits & Demerits of Arithmetic Means (A.M.)
5) Distinguish between Primary & Secondary data

Page 3 of 3

926325B547BASECTDBI1E74C07129442F

2) Advantages of Sampling
4)Types of one dimensional bar diagrams
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FYUsFm Sem- [ e
Q.P; CODE: 35605

[Time: 2.30 Hours] [Total Marks: 75] -+ ¢
Note: 1) All questions are compulsory.
2) Figures to the rlght indicate full marks.
3) Make use of diagrams wherever necessary. :
1 A. Fill in the blanks (any 8) PSS EE S S Bkl
i) URL stands for L PSP F S L Pl
ii) generation computers used vacuum tubes ad an electr(’)mc component
iii) memory is temporary or volatlle oY T & !
iv) MICR stands for
V) Keyboards use ____layouts :
vi) printer is a urcular wheel _ &
vii) printers use electro-meehamcal mechamsm ;

viii) TLD stands for o . i
ix) www has its own protoeol known as AU
) Typing =(5+5) * 4/ 2'in a cell of Excel wm result"' '*

1 B. State whether True ofFalse (any 7) & _ .- p DN [7 marks]

i) www stands fér word Wlde web ) AT

ii) Internet is a computer netWork made up of -housands of networks sharing
resources. WorldW1de : ¥R A Y N

iii)  eBayisan example of BZC model

iv) Third generatmn computers used tranmsti)rs as an electronic component

v)  Hardwareare parts whi¢h you can see and touch

vi)D s '_Processor is called as the bram of the computer

vii) - People are the computer operators OF users

viii) . Language C and COBOL was used: m ‘second generation computers

ix) OMR stands for Onlme Mark Reader

x) '-Typmg —(8+8) 4 8 2 W1II result i in giving a value 1.

2.

(a) What are computers" What are the characteristics of computers? [8 marks]
(b) Explam the different parts ofa computer in detail [7 marks]

" : OR
(p) Explain the' evolutiou 'of computers [8 marks]
(q) Explain the types_iot"e'o‘tnputers [7 marks]
(a) Explain computer generations. . [8 marks|
(b) What are¢ computer ports? Explain the various types of ports. [7 marks]
Page 1 of 2
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OR

(p) What are the different types of non- -impact printers?
(q) What is a computer bus? Explain the various types of compliter buses?

(b) Give solutions for the followmg problems.

(i) The computer won’t print
(ii) The computer is frozen

Y R
OR~ oo A0
A R Y Ay

(p) Explain intranet, mternet and extraliet What are the nte o
connectwns" : f,[8 mal‘ks]
o [’7 marks]

1 Excel and their order of operations,  [8 marks]

(b) Give solutions for the roll'o%‘v'mg pr D B Qe ) B S 0 [7 marks]
(1) All programs on the cOmpu

[15 marks]

Page 2 of 2

E482640C228046FB5591EEF2A77C3BB7




